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1 fsRHERAR- SHISE 5 2

2 | BSEHEEER- =3 3 3

3 | BSEHEEER- | ETHUL 2 9

4 | BSRHEEER- UNEES 2 3

5 | [ESRHEEER- TrEEE 3 2

6 | BSRHEEER- HHEEE] 3 4

T | BSEHEEER- =T 9 9

8 | BsBHEER- A fiflgh 4 1

9 | BSEHEEER- #hti 4 7

10 | BsRHEEEX- SRS 1 2

11 | BsRHEEEX- F0H 1 1

12 | BSBHEEER- Rk 3 5

13 | BsRHEEEX- pEESE 2 4

14 | BSBHEEER- SR 4 2
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1 | BSEHEEER- =3 2 3

2 | [BSRHEEER- B 0 6

3 | BsBHEER- R 2 3

4 | BsBHEEER- pEESE 4 3

5 | RsBHEERR- JuEss 5 7

6 | BsBHEER- LL1%E 2 2

T | BSEHEEER- REEIR 3 2

8 | BsBHEER- RE 1 1

9 | BsEHESER- PNSES 2 17

10 | BESRHEEER- i 3 6

11| BSBHEERR- | muT 1 6

12 | BSBHEEER- INEH 8 4

13 | BsRHEEEX- HEE 1 5

14 | BsRHEEEX- et 2 5
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1 | BSEHEEER- #HHli 0 9

2 | BsBHEER- NHZE 4 2

3 | BsBHEER- IR 0 1

4 | BSEHEEER- PR 0 13

5 | [ESRHEEER- HHEEE] 1 1

6 | BsBHEER- B 2 6

T | EsBHEEER- ik 12 8

8 | BSRHEEER- UNEES 2 9

9 | BsBHEER- AN=V/IN 2 4

10 | BsEHEEAR- 7 3 3

11| BsBHEERR- S 2 7

12 | BsRHEEEX- HILHE 4 4

13 | BSBHEEER- SR 3 24

14 | BESRHEEER- i 3 4
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